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Exercise 1
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Insert 14, 18 and then 3 into the depicted B-Tree (degree i = 1).

Solution:
After inserting 14:
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After inserting 18:
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After inserting 3:
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Exercise 2

Give a permutation of the numbers 1 to 24, such that when inserted into an empty B-Tree
(degree i = 2) the height of the tree (number of layers) of the B-Tree is minimal. Draw
the resulting tree.

Solution:
To be of minimal height. The resulting root of the tree must contain 5,10,15 and 20.
On possible option is the following:

e 1,2,56,7: a new root containing 5 is created

e 10,11,12: 5 and 10 are in the root node now

e 15,16,17: 1,10 and 15 are in the root node now
e 20,21,22: 1,10,15,20 are in the root node now

e Now, we can insert the remaining keys in an arbitrary order



